
 

 

ACCORDION LESSONS – LESSON 11 
 

 
 
The major scales are all construct the same way. There are always 8 
notes in a scale. If the scale begins on C it will end on C; same as if it 
begins on D it will end on D etc for all letters from A – G. Notice above 
the new note is C which is eight notes up the keyboard (higher) than the 
first C you learned in Lesson 1.  
 

 
 
The keyboard photo above shows the 8 keys you now know. Notice that 
there is a black key between the following keys: C-D  D-E  F-G  G-A   
A-B.  There is NO black key between E-F  B-C. When you go from C to 
Black key between C-D this is called a half step. From that black key to 
D is another half step from D to the next black key is another half step 
and from that black key to E is another half step. Now there is no black 
key between E-F; therefore going from E to F is a Half Step. Also, going 
from B to C is a half step. If you add up all the half steps between (in 
this case) C and C you will find there are 12 half steps. There are always 



 

 

12 half steps between any to notes of the same letter name on the 
keyboard  ie: C to C    E to E   A to A etc. If you count every key white 
and black between C-C  D-D etc. you will find there are always 13 notes. 
This is called the chromatic scale. Key scales consist of 8 notes following 
a specific pattern. There is a Scale for every one of the 13 notes of the 
chromatic scale and each has 8 notes in it. Lets look at the C scale. 
 
The C scale is: C-D-E-F-G-A-B-C .  There are no black keys in the C 
scale. In other words there are no Sharps or Flats in the C scale. The 
entire scales uses only the White Keys. 
 
How it is formed: 
You can refer to the keyboard picture on the first page: 
 
This is the system to form any scale for any of the keys on the keyboard: 
Whole Step – Whole Step – Half Step – Whole Step – Whole Step – 
Whole Step – Half Step 
 
Using C scale an the example on the keyboard picture starting a the 
first C. It is a whole step from C to D. It is a half step from C to the 
Black Key and another half step from the Black Key to D. Two half 
steps make up a Whole Step. D to E is also a Whole Step. E to F is a 
Half Step (not black key between them). F to G is a Whole Step. G to A 
is a Whole Step. A to B is a Whole Step. B to C is a Half Step thus 
following the Above Rule. Every key scale is formed the same way, 
whether it is D scale E scale G scale F# scale etc.  
 
For now you are only working on the C scale but with the Rule above 
you can find the scale for any of the 12 notes. 
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